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Aim: To compare the stomatal density on the
upper and lower surface of Tradescantia leaves.




x40 magnification

x100 magnification



How to determine the density of stomata in Step 4

At x100 magnification, there were 73 stomata in the field of view.
Using the "graduated slide", the diameter of the field of view at x40
magnification was 4 mm.

Diameter of the field of view at x100 magnification:

o (40/100)x 4 = 1.6 mm
Area of the field of view at x100 magnification:

o mr2=mnx(0.8)> =201 mm?

o 13 stomata / 2 mm?

o 6.5 stomata / mm? of lower leaf surface

Stage 3: Observe stomata on the upper surface of a
Tradescantia leaf

Calculate the
percentage change
between the upper
and lower surface of
the leaf.

1 Repeat Stage 2
for the upper
surface of the
leaf.
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